Cuge 1

Using the Fundamental
Theorem of Calculus
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9. Find the equation of the t%ngem line to the graph of g at x = -2
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10. Determine any relative/local maxima or minima on the Tnterval
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11. Determine the absolute maximum and minimum of g on [-5, 2].

?\u% C.P. aad eadpoiats inte 5(%)

I
3(-S)= 5;-?5 f-é) = 1 5(1)-_._594“-) 4+ =

§(D={Traat= 0 glas 5;‘ Le)e -
—-2 —

Pb? nt ("2 ‘03

e NoF 4B T~
0 *)
‘ (*Q 2 5

m

X:-Q,] 9“ (IB:_'(O x:.l lo(nl W>

o

.4

13|Page



5(70 g = 3‘('0_‘; 2 Agca Pns‘d-i.rr-

}(4)

W

(3(.-:3 dec

LIES Wegative

Graph of At}

11. Let?h(x) = o(X) - .5%2 - x,l Determine thc@;l Vmofh(x) on

-5 <x <5,
WG = 5(’*5 - Sx - %
K= g ()~ el

s ale N o]
O 9 (x) B L0 .
o-l
A+ | :6|(K> — W 1Y '\ J)‘l X
AV
12. Letn(x)=[g(x)] + f(x). Find n'(l)= . A 5’\.“'&
\ X

v\"(\Q:ZYSCQ‘B‘%{B +-(\(x\\
\ TRy
QY = 2(#\3\3%‘3 b

] e%’“ﬁ
i ‘j;-o:fl S OEA- %=
2(3) (o) + &V

n'(y=-)

14|Page



